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POLYNOMIALS

Polynomials

1.If —3 is one of the zeroes of the polynomial

(k — 1)z* + kx + 1, find the value of k.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lrqq5uibA5RK

Answer: A

o Watch Video Solution

2. A quadratic polynomial, whose zeroes are-3

and 4, is


https://dl.doubtnut.com/l/_lrqq5uibA5RK
https://dl.doubtnut.com/l/_nmDisSfpsFQG

Az?— 1+ 12

B.z2 + z 4 12
2
Xr
C____
2 2 0

D.2z% 4+ 22 — 24

Answer: C

° Watch Video Solution

3. If the zeroes of the quadratic polynomial

2> + (a + 1)z + bare 2 and -3, then


https://dl.doubtnut.com/l/_nmDisSfpsFQG
https://dl.doubtnut.com/l/_rKANxTgUTfQi

B.a =5,b= —1

Ca=2,b= —6

D.a=0,b= —6
Answer: D

o Watch Video Solution

4. The number of polynomials having zeroes as

-2and 5 is


https://dl.doubtnut.com/l/_rKANxTgUTfQi
https://dl.doubtnut.com/l/_8rgACmg87uHB

Al

B.2

C.3

D. more than 3

Answer: D

o Watch Video Solution

5. If one of the zeroes of the cubic polynomial
az® + bz? + cx + d is zero, the product of

the other two zeroes is


https://dl.doubtnut.com/l/_8rgACmg87uHB
https://dl.doubtnut.com/l/_HW9qkb6BW5Yg

Answer: B

o Watch Video Solution

6. If one of the zeroes of the cubic polynomial
23 +ax? +br+c is —1then find the

product of other two zeroes.


https://dl.doubtnut.com/l/_HW9qkb6BW5Yg
https://dl.doubtnut.com/l/_FxFw4h3D8sdL

Ab—a+1

B.b—a—1

Ca—b+1

D.a—b—1
Answer: A

o Watch Video Solution

7. The zeroes of the quadratic polynomial

2 + 99z + 127 are


https://dl.doubtnut.com/l/_FxFw4h3D8sdL
https://dl.doubtnut.com/l/_VyCmx2Ky8PGW

A. both positive

B. both negative

C. one positive and one negative

D. both equal

Answer: B

o Watch Video Solution

8. The zeroes of the quadratic polynomial

z? + kx + k where k # 0,


https://dl.doubtnut.com/l/_VyCmx2Ky8PGW
https://dl.doubtnut.com/l/_q7eUSHT8XYTy

A. cannot both be positive

B. cannot both be negative

C. are always unequal

D. are always equal

Answer: A

o Watch Video Solution

9. If the zeroes of the quadratic polynomial

azr’ + bz + ¢, where ¢ # 0, are equal, then

| 8 l


https://dl.doubtnut.com/l/_q7eUSHT8XYTy
https://dl.doubtnut.com/l/_6GbrZvvVYjcd

10. If one of the zeroes of a quadratic
polynomial of the form z? + az + b is the
negative of the other, then it
A.has no linear term and the constant
term is negative

B. has no linear term and the constant

term is positive


https://dl.doubtnut.com/l/_6GbrZvvVYjcd
https://dl.doubtnut.com/l/_rGKFH7AR7VkM

C.can have a linear term but the constant

term is negative

D. can have a linear term but the constant

term is positive

Answer: A

o Watch Video Solution

11. Which of the following is not the graph of a

quadratic polynomial?


https://dl.doubtnut.com/l/_rGKFH7AR7VkM
https://dl.doubtnut.com/l/_ngJdxaw3VTxK

/|
!

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ngJdxaw3VTxK
https://dl.doubtnut.com/l/_8taoiTPqdsgi

12. Answer the following and justify.

(i) can 22> — 1 be the quotient on division of
2% + 22> + 2 — 1 by a polynomial in x of
degree 57

(i) What will be quotient and remainder be on
division of ax® +bx +c by
pr® + qgr? +re+s,p £ 0?

(iii) If on division of a polynomial p(z) by a
polynomial g(z), the quotient is zero, what is
the relation between the degree of p(z) and
g9(z)?

(iv) If on division of a non-zero polynomial

p(x) by a polynomial g(z), the remainder is


https://dl.doubtnut.com/l/_8taoiTPqdsgi

zero, what is the relation between the degrees
of p(x) and g(x)?
(v) Can be quadratic polynomial z* + kx + k

have equal zeroes for some odd integer k£ > 1

?

o Watch Video Solution

13. Are the following statements 'True' or
'False'? Justify your answer.
(i) If the zeroes of a quadratic polynomial

ax® + br + c are both positive, then a,b and ¢


https://dl.doubtnut.com/l/_8taoiTPqdsgi
https://dl.doubtnut.com/l/_c75w4PNFlPLe

all have the same sign.

(ii) If the graph of a polynomial intersects the
X-axis at only one point, it cannot be a
quadratic polynomial.

(iii) If the graph of a polynomial intersects the
X-axis at exactly two points, it need not ve a
quadratic polynomial.

(iv) If two of the zeroes of a cubic polynomial
are zero, then it does not have linear and
constant terms.

(v) If all the zeroes of a cubic polynomial are
negative, then all the coefficients and the

constant term of the polynomial have the


https://dl.doubtnut.com/l/_c75w4PNFlPLe

same sign.

(vi) If all three zeroes of a cubic polynomial
x> + az® — bx + ¢ are positive, then atleast
one of a,b and c is non-negative.

(vii) The only value of k for which the quadratic

polynomial kz’ + z + k has equal zeroes is
1

5

o Watch Video Solution

14. Find the zeroes of the following

polynomials by factorisation method and


https://dl.doubtnut.com/l/_c75w4PNFlPLe
https://dl.doubtnut.com/l/_46VsaiyLsMsF

verify the relations between the zeroes and
the coefficients of the polynomials

(i) 4z? — 3z — 1

o Watch Video Solution

15. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and
the coefficients of the polynomials

(ii) 322 + 4z — 4

o Watch Video Solution



https://dl.doubtnut.com/l/_46VsaiyLsMsF
https://dl.doubtnut.com/l/_lpV0hsYJ4KdP

16. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and
the coefficients of the polynomials

(i) 5¢ + 12t + 7.

o Watch Video Solution

17. Find the zeroes of the following
polynomials by factorisation method and

verify the relations between the zeroes and


https://dl.doubtnut.com/l/_lpV0hsYJ4KdP
https://dl.doubtnut.com/l/_UGmiiwtewqMu
https://dl.doubtnut.com/l/_ynUp4lbCF6in

the coefficients of the polynomials (iv)

3 — 2t — 15t

° Watch Video Solution

18. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and
the coefficients of the polynomials

7 3

2

° Watch Video Solution



https://dl.doubtnut.com/l/_ynUp4lbCF6in
https://dl.doubtnut.com/l/_MkIAZs8B1pi2
https://dl.doubtnut.com/l/_Do14NAyA6N0Q

19. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and
the coefficients of the polynomials (vi)

4z% + 52z — 3.

o Watch Video Solution

20. Find the zeroes of the following
polynomials by factorisation method and

verify the relations between the zeroes and


https://dl.doubtnut.com/l/_Do14NAyA6N0Q
https://dl.doubtnut.com/l/_z1603k60UJQO

the coefficients of the polynomials

(vii) 25 — (1 + 2¢/2)s + /2

° Watch Video Solution

21. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and

the coefficients of the polynomials

(viii) v* + 44/3v — 15

° Watch Video Solution



https://dl.doubtnut.com/l/_z1603k60UJQO
https://dl.doubtnut.com/l/_V8m0uv3KIqEQ
https://dl.doubtnut.com/l/_acGDiPA7CcjB

22. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and

the coefficients of the polynomials

. 3 -
(ix) y2 + 5\/5y — 5

o Watch Video Solution

23. Find the zeroes of the following
polynomials by factorisation method and

verify the relations between the zeroes and


https://dl.doubtnut.com/l/_acGDiPA7CcjB
https://dl.doubtnut.com/l/_aDdkZzFNudJN

the coefficients of the polynomials

11 2

2__ —_— —
(x) Ty Y~ 3

° Watch Video Solution

24. For each of the following find a quadratic

polynomial whose sum and product

respectively of the zeroes are as given. Also,

find the zeroes of these polynomials by
-8 4 -3 1

factorisation. (i) —, 3 (i) ——, —

3 24/5 2

o Watch Video Solution



https://dl.doubtnut.com/l/_aDdkZzFNudJN
https://dl.doubtnut.com/l/_37z2iPDxlPWb
https://dl.doubtnut.com/l/_DQB1KGbW3nmW

25. Given that zeroes of cubic polynomial
3 — 6z +3z+10 are of the form
a,a+b,a+2b for some real numbers a and b, find
the values of a and b as well as zeroes of the

given polynomial.

o Watch Video Solution

26. If V2 is a zero of
p(z) = 62° 4+ /22° — 10z — 44/2, find the

remaining zeros

l €@ Watch Video Solution l


https://dl.doubtnut.com/l/_DQB1KGbW3nmW
https://dl.doubtnut.com/l/_6VeXEln3zxR6

27.The value of k, if > + 2z + k is a factor of

22 + 23 — 1422 + 5z + 6is

o Watch Video Solution

28. Given that z — /5 is a factor of the cubic
polynomial 23 — 35z + 13z — 34/5, find

the other zeroes of the polynomial.

o Watch Video Solution



https://dl.doubtnut.com/l/_6VeXEln3zxR6
https://dl.doubtnut.com/l/_JMB2HQwRx1QL
https://dl.doubtnut.com/l/_fwv87sV3agMa

29. For which values of a and b, the zeroes of
g(x) = z° + 2z° + a are also the zeroes of
the polynomial
p(z) = 2° — a* — 423 + 322 + 32 + b?

Which zeores of p(x) are not the zeroes of

p(z)?

o Watch Video Solution



https://dl.doubtnut.com/l/_C4iSTjN57Nfg

